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Spring 2014
DIRECTIONS
This section of the test is 80 items, which you will work in this booklet.  Mark the correct answer as directed by your teacher.  You may use a calculator that has been approved by your teacher.  Only your test booklet and calculator may be used; no other materials should be on your desk.

Solve each by factoring.
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Find the value of c that makes each trinomial a perfect square.
3 
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A. 30

B.     900

C.      3600

D.       450
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5 Describe the nature of the roots of the equation 
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6 - 2 - 4 = 0
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A. 1 real root
B. 2 real, rational roots
C. 2 real, irrational roots
D. 2 complex roots
6 Give the value of the discriminant and describe the nature of the roots of the equation 
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A. 0; 1 real root
B. 128; 2 real, irrational roots
C. -128, 2 complex roots
D. 128; 2 real, rational roots
7 Find the sum and product of the roots of the equation 
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A. sum: -3, product: 2
B. sum: 3, product: 2

C. sum: 2, product: -3

D. sum: -2, product: -3

8 Which equation has the solution set 
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A. 
[image: image21.wmf]2

40 + 49 + 15 = 0

xx


B. 
[image: image22.wmf]2

495

 +  -  = 0

408

xx


C. 
[image: image23.wmf]2

40 +  - 15 = 0

xx


D. 
[image: image24.wmf]2

40 +  + 15 = 0

xx


9 The graph of a quadratic function is shown below.  What are the solutions of the related quadratic equation?
A. [image: image264.png]


-4, -1

B. 3, -5
C. -3, 5
D. -1, -4
10 Which is the graph of 
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11 What is the vertex of the parabola defined by 
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A. (-3, 5)

B.      
(-3, -5)
C.     (3, 5)

D.     (3, -5) 
12 What is the equation of the axis of symmetry of the parabola defined by 
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A. x = 1

B.      
x = 4

C.      x = -4

D.      x = 5
13 Which inequality is graphed below?
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14 Solve the inequality 
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15 Find the standard deviation of {8, 3, 2, 5, 6, 4, 5, 7, 3, 6}
A. 1.8

B.      2.8 

C.      2.2     

D.      2.4
16 Find the standard deviation of {7, 2, 2, 4, 5, 3, 4, 6, 2, 5}

A. 1.7

B.      2.8

C.      
2.2

D.      2.4
17 Find the distance between the points (2, 5) and (-4, 1).
A. 
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B.      
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C.      
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D.      
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18 What is the midpoint of the line segment joining (3, 7) and (7, -4).
A. (10, 3) 
B.      
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C.      
(-4, 11)
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19 Simplify the expression
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20 Solve the equation 
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21 Find the center of the circle with equation
[image: image53.wmf]22

 +  - 4 + 6 + 1 = 0

xyxy

.
A. (2, -3)

B.      (2, 3)

C.      
(-2, -3)
D.      (-2, 3)
22 Find the radius of the circle with equation 
[image: image54.wmf]22

 +  + 2 - 8 - 4 = 0
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.
A. 4

B.      2

C.      
21

D.      
[image: image55.wmf]21


23 Which equation is shown by the graph?
A. [image: image270.png]
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24 Which equation is shown by the graph? 
A. [image: image271.png]
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B. 
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D. 
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25 Find the center of the ellipse with the equation 
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A. 
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26 Write the equation of the parabola 
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A. 
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C.        
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D.        
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27 Write a polynomial function of least degree with integral coefficients, the zeros of which include 
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28 Find the vertices of the hyperbola with equation 
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A. (8, -4) and (-2, -4)


C.       (3, -2) and (3, -6)
B. (5, -4) and (1, -4)


D.       (3, 1) and (3, -9)

29 Which equation is shown by the graph?
A. [image: image272.png]
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B. 
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30 Which equation is shown by the graph?
A. 
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B. 
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D. 
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31 Solve the system of equations. 
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A. (4, 3) and (-4, 3)


C.       (4, 3) and (4, -3)
B. (3, 4) and (3, -4)


D.       (3, 4) and (-3, 4)
32 What is the graph of 
[image: image89.wmf]22
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A. Parabola

B.      Circle

C.       Ellipse

D.  Hyperbola
33 What is the graph of 
[image: image90.wmf]22

5 + 10 + 5 = 9
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A. Parabola

B.      Circle

C.       Ellipse

D.  Hyperbola

34 What is the graph of 
[image: image91.wmf]2

4 =  - 24 + 35
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A. Parabola

B.      Circle

C.       Ellipse

D.  Hyperbola

35 Find f(x + h) for the function 
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A. 
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B. 
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D. 
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36 Divide using synthetic division and write your answer in the form:


dividend = quotient · divisor + remainder.  
[image: image97.wmf]43
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A. 
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B. 
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C. 
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D. 
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37 Use synthetic substitution to find f(-3) for 
[image: image102.wmf]432
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A. 67

B.       -119

C.       -23

D.       169
38 One factor of 
[image: image103.wmf]32
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.  What are the other two?
A. 
[image: image104.wmf] - 2, 2 + 1
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B. 
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C. 
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D. 
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39 Which of the following is the graph of 
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A. [image: image274.png]
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40 What are all the zeros for 
[image: image109.wmf]32
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 is one zero?
A. 2 + i, 2 – i, -5
B. 2 + i, 2 – i, 5
C. 2 + i, 2 – i, -5, 5
D. 2 + i, -5, 5
41 What are all of the zeros for
[image: image110.wmf]32
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 if 4 is one of the zeros?
A. 
[image: image111.wmf]4
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42 Find all rational zeros for the function 
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A. 
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D.       
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Solve the equation.

43 
[image: image120.wmf]42
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xx


A. 
[image: image121.wmf]19, 5
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B.       
[image: image122.wmf]19
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C.       19, -5

D.       
[image: image123.wmf]19, 5
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Solve the equation.

44 
[image: image124.wmf]21
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A. -1, -512
B.       -1, -2

C.       1, 2

D.       Ø
45 
[image: image125.wmf] - 5 + 4 = 0
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A. 1

B.       1, 4

C.       16

D.       1, 16
46 If 
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A. -1

B.       11

C.       -7

D.       35
47 Find 
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A. 
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B. 
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C. 
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D. 
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48 Find the first four iterates of 
[image: image136.wmf]() = f( - 1) + 3
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[image: image137.wmf](0) =1
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A. 0, -1, 2, 5
B. -1, 2, 5, 8
C. 2, 5, 8, 11
D. -1, -3, -9, -27
49 Which is the graph of the inverse of 
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 =   1

yx

-

?
[image: image278.png]


[image: image279.png]


[image: image280.png]



A. 

B.
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50 Find the inverse of 
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51 What is the simplest form of 
[image: image144.wmf]32
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A. 
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B.       
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C.       
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D.       
[image: image148.wmf]5
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52 Simplify 
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A. 
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B.       
[image: image151.wmf]3

a

b



C.       
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53 Simplify 
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A. 
[image: image155.wmf]1
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B.       2

C.       
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54 Which of the following is an equation of a vertical asymptote for the graph of 
[image: image158.wmf]2
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A. x = 1

B.       x = -2

C.       x = -2 or x = -3
D.       y = 1
55 Simplify 
[image: image159.wmf]22
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A. 
[image: image160.wmf]2
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B.       -1

C.       
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D.  1
56 Two fractions have denominators of 
[image: image162.wmf]2
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A. 
[image: image164.wmf]2
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B. 
[image: image165.wmf]2
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C. 
[image: image166.wmf]2
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57 Simplify 
[image: image168.wmf]22
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A. 
[image: image169.wmf]2
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B. 
[image: image170.wmf]2
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C. 
[image: image171.wmf]2
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D. 
[image: image172.wmf]2
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58 Simplify 
[image: image173.wmf]2
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A. 
[image: image174.wmf]3
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B. 
[image: image175.wmf]3
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C. 
[image: image176.wmf]2
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59 Which of the following is an equation of the horizontal asymptote for the graph of 
[image: image178.wmf]2 + 6
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A. y = 2

B.       y = 0

C.       x = 1

D.  y = 1
60 What is the solution set of 
[image: image179.wmf]30
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A. 
[image: image180.wmf]6
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B.       
[image: image181.wmf]6
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C.       
[image: image182.wmf]15
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D.       
[image: image183.wmf]Æ


61 What is the solution set of 
[image: image184.wmf]12 - 4
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A. 
[image: image185.wmf]{

}

4, 3
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B.       
[image: image186.wmf]{

}

4, -3



C.       
[image: image187.wmf]{

}
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D.       
[image: image188.wmf]{

}
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62 If y varies inversely as x and y = 
[image: image189.wmf]2

3

 when x = -10, what is y when x = 15?
A. 
[image: image190.wmf]4

9



B.       
[image: image191.wmf]4

9
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C.       -1

D.       -100
63 If y varies directly as x and y = 4 when x = -2, what is y when x = 30?
A. 
[image: image192.wmf]14

15
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B.       60

C.       -60

D.       
[image: image193.wmf]14

15


64 Which equation represents the graph shown?
A. [image: image282.png]
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B. 
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D. 
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65 If y varies jointly as x and z = 4 and y = 60 when x = 10 and z = -3, find y when x = 8 and z = 15.
A. -240

B.       15

C.       240

D.       -15
66 Solve 
[image: image198.wmf] + 22 + 4
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xx


A. -2

B.       -1

C.       0

D.       1
67 Evaluate 
[image: image199.wmf]2

log8


A. 3

B.       4

C.       16

D.       64
68 Solve 
[image: image200.wmf]3

log = 2

n


A. 5

B.       6

C.       8

D.       9

69 Solve 
[image: image201.wmf]777
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log = 4log2log4

2

x

-


A. 2
B.      4
C.      16
D.      32
70 [image: image283.emf]49
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A. 25.1

C.       50.7
B. 28.9

D.       58.4
71 What is 100º expressed in radians?

A. 
[image: image202.wmf]9
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B.      
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9
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C.      
[image: image204.wmf]1.74


D.      
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72 What is 
[image: image206.wmf]5
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 expressed in degrees?

A. 3.9º
B.      102.5º
C.      225º
D.      405º

73 Find the exact value of 
[image: image207.wmf]cos30
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A. 
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B.      
[image: image209.wmf]1

2


C.      
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74 Find the exact value of 
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75 Find the exact value of 
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76 Find the exact value of 
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77 Find the inverse of the function 
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78 Find the number of positive real zeros, negative real zeros, and imaginary zeros of 
[image: image231.wmf]32
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A. Pos: 3 or 1,  Neg: 0,  Imag: 0 or 2

C.     Pos: 2 or 0,  Neg: 1,  Imag: 0 or 2


B. Pos: 3 or 1,  Neg: 1 or 3,  Imag: 0

D.     Pos: 2 or 0,  Neg: 0,  Imag: 2

79 Find the remainder if 
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 is divided by 
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A. -600
B.      227
C.      662
D.      4
80 Solve 
[image: image234.wmf] + 22 + 5
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If you finish early, you may go back and 
check your work.
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